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Find the inverse of the matrix.

Hfeea &1 HerH wE T
2 3 1
3 4 1
3 7 2
Formulate the equation of the line passing

through two points through (5,-2) and (7, -1).

e fagal (5, -2) 3 (7,-1) A B o T
T G SR R

Find the length of the perpendicular from the
point (3, 4) on the line 2y = x,

W 2y = x W WY (3, 4) A A AN FOE T o

A man can row downstream 20 km in 2 hour,
and upstream 4 km in 2 hours. Find his speed of
rowing in still water. Also, find the speed of the

stream.
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Instructions for Candidates

. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
3. Question No. 1 is compulsory.

4. Answer any two questions from question nos. 2 to 4.
5. All questions carry equal marks.

6. Use of calculators is not allowed.

7. Mention the Vedic Mathematics Sutra and Subsutra
used to solve the question.

P.T.O.



2668 2

= i O Ll s L

1 T WEE-TE % e B ew v v FuiRe e w s
FehIeR fofag |

0. =E UIH-TF & IO Sdet o B R ven s A fSwe, At
T IR T WIEAW U B BT WY |

3 OEel W A # |

4, WIA HEN 2 ¥ 4 9 e @ e & Ior foRaw
5 Gt wSl ® 3 WA 2

6. EholdieY T WA Ffkid ®

7 R B e @ R v AR T S g s e
a1 e AW

1. Attempt any four of the following :

frafofas & ¥ ®% OR W ST

(i) Solve for x and v :

2x — 14y = 14 and 381x - 267y = 267.
X 3R y T AT G H
2x — 14y = 14 and 381x — 267y = 267.

(i) Find x such that (x + 9)(x +4) = (x - 3)(x - 11)

X A A W (x+ D +4)=(x-3)x-11)
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(iii)

(iv)

(v)

(a)

(b)

3
Find HCF of 65, 156 and 221.
65, 156 3 221 &1 TIENTH T &
What is the Sammuccaye in the equation

3x+4__ x+1 o
6x+7 2x+3

3x+4  x+1
6x+7 2x43

TR0 W e T B 7

Find the area of a cyclic quadrilateral with sides

20cm, 16cm, 9cm and 5 cm.

20 W, 16 W, 9 W IR 5 T qene A whEH
ki M E o | e

Find the LCM of the following numbers: 112,
140 and 168.

FrfoRae wwemsl = voRign @i S 112, 140
3T 168,

Solve for x :

X%%Q%ﬁﬁ

X x—-9 x+1 x-8
+ = +
x-2 x-7 x-1 x-6
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